Tim starts running at 11:30a. He runs for 45 minutes. What time does he stop running?

11:30                minutes

_____________________________

11:35

5

11:40

10

11:45

15

11:50

20

11:55

25

12:00p

30

12:05

35

12:10

40

12:15

45



He stops at 12:15p

Bob cooked dinner from 5:45p until 7:00p. How long was he cooking?

5:45p

hours


6:45p

minutes

_________________________                 ________________________


6:45p

1


6:50p

5






6:55p 

10






7:00 p

15

(1st T chart)



     (2nd T chart)

He cooked for 1 hour and 15 minutes

